
Algebra 1 ECA Remediation     Name________________________________ 

Quiz 34.1 

Solve each figure for the variable given. 

 

 

 

 

 

  

x-7 Area = 490 sq. un. 

x+14 
1) 2) 

Area = 90.25 sq. un. x - 4 

x - 4 

a)  x = 19 

b)  x = 20 

c)  x = 21 

d) x = 22 

a)  x = 13.5 

b)  x = 14.5 

c)  x = 15.5 

d)  x = 16.5 
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Factor each completely.

1)  

 

b

 

b
 

A)  

 

(

 

b)(

 

b)
B)  

 

(

 

b)(

 

b)
C)  

 

(

 

b)(

 

b)
D)  

 

(

 

b)(

 

b)

2)  

 

b

 

b
 

A)  

 

(

 

b)(

 

b)
B)  

 

(

 

b)(

 

b)
C)  

 

(

 

b)(

 

b)
D)  

 

(

 

b)(

 

b)
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